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There are SEVEN (7) questions in this section. Answer allloﬁ.hgm
(75 %arks)
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1.A random sample of size of 12 taken from the population which is normally distributed with
a mean 38 and variance of 12.Find the probability that the sample mean

a. is less than 36 <ﬁ
(3 marks)
b. is not more than 40.5
(3 marks)
c. lies between 37.2 and 40.8 ™
(4 marks)’
(10 marks)
2
X 0 1 2 3
P{X=x) 0.1 p 0.3 q
If E(X)=1.5, find the value of p and q. . ﬂ
A (6 marks)
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3. The normal variable X has a normal distribution with a mean of ¢ and variance of 9.A
random sample of 20 observation of X has a mean of 9.8.Construct
a. a symmetrical 95% confidence interval for u I S|

B (7 marks)

b. a symmetrical 99% confidence interval for u S ﬁ

(8 marks)

{15 marks)
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Determine the regression equation.
(15 marks)

5. In a survey carried out it is found that 20% of the students go to school by bicycle.

——>a. If 10 students are chosen at random find the probability that half of them go to school by

bicycle
T (5 marks)
4
b. If there are 6 000 students find the mean and standard deviation of students whom cycle
to school. (
I {4 marks)
\ Spgle™ cpuce
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6. If 70% of the electorate supports in Tanjung support Kamal the ruling party find the
probability from a sample of 10 people, less than three support Kamal in Tanjung.
N

)

’T g‘.n?j\e cpnle (10 mgrks)

7. A fruit stall sells tomatoes,apricots and plums.The weights of plums are normally
distributed with a mean of 80 grams and standard deviation 4 grams. Five plums are
chosen at random, find the probability exactly three of them weigh more than 82 grams.

/

(10 marks)
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